Unfactored Load Values:

Dead:  50 lb./ft.3
Shingles:  3 lb./ft.2

Live (roof):  12 lb./ft.2
Live (deck):  50 lb./ft.2
Snow (deck):  30 lb./ft.2
Snow (roof – adjusted for slope):  21.2 lb./ft.2
Wind (leeward):  3.9 lb./ft.2 in positive y-direction

Wind (windward):  6.25 lb./ft.2 in positive y-direction

Wind (roof):  negligible

Conversion of Snow Load into horizontally distributed vertical load for sloped roof:

Sv = (30 lb./ft.2) (sin (12:12)) = 21.2 lb./ft.2
Uplift on shelter due to wind load deemed negligible due to sheer mass of structure and pitch of roof.  Upward forces on platform due to wind opposed by anchored posts.

Derivation of Wind Load (lateral only):

W = CeCqqsI
where

qs (wind stagnation pressure @ 70 m.p.h. speed) = 12.6 lb./ft.2
Ce (height, exposure, gust factor coefficient) = 0.62





I (importance factor) = 1.0

Cq (windward wall) = 0.8





Cq (leeward wall) = 0.5





Cq (roof @ 12:12 slope) = 0.7

Ww (windward wall) = (0.62) (0.8) (12.6 lb./ft.2) (1.0) = 6.25 lb./ft.2
Wl (leeward wall) = (0.62) (0.5) (12.6 lb./ft.2) (1.0) = 3.9 lb./ft.2
Wr (roof) = (0.62) (0.7) (12.6 lb./ft.2) (1.0) = 5.47 lb./ft.2
